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QUESTION 1

Which of the following commands will change all CR-LF pairs in an imported text file, userlist.txt, to Linux standard LF
characters and store it as newlist.txt? 

A. tr \\'\r\n\\' \\'\\'  newlist.txt 

B. tr -c \\'\n\r\\' \\'\\'  userlist.txt 

C. tr -d \\'\r\\'  newlist.txt 

D. tr \\'\r\\' \\'\n\\' userlist.txt newlist.txt 

E. tr -s \\'^M\\' \\'^J\\' userlist.txt newlist.txt 

Correct Answer: C 

 

QUESTION 2

Which of the following is the process ID number of the init program? 

A. -1 

B. 0 

C. 1 

D. It is different with each reboot. 

E. It is set to the current run level. 

Correct Answer: C 

 

QUESTION 3

Which of the following chown commands will change the ownership to foo and the group to bar on a file named biglist? 

A. chown foo/bar biglist 

B. chown -u foo -g bar biglist 

C. chown foo:bar biglist 

D. chown --user foo --group bar biglist 

Correct Answer: C 

 

QUESTION 4
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What command with all options and/or parameters will send the signal USR1 to any executing process of program
apache2? 

Correct Answer: KILLALL-SSIGUSR1APACHE2,KILLALL-SUSR1APACHE2,KILLALLSIGUSR1APACHE2,KILLALL-
USR1APACHE2  

 

QUESTION 5

Which of the following does the command mount -a do? 

A. It mounts the floppy disk for all users. 

B. It shows all mounted file systems. 

C. It opens /etc/fstab to edit. 

D. It mounts all file systems listed in /etc/fstab. 

Correct Answer: D 
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